

Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

Results

## II Semester B.Sc. Computer Science JULY 2023 Examinations Reg. No.: 22CS0001

Name of the Student : ABHINAYA B

**Father Name: BOOPATHY Mother Name: AMIRTHAVALLI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
			110013	Tomic	Tome	
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	<b>A</b> +
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	A
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

Doculte

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0002

Name of the Student : ABISHEK KUMAR G

Father Name : GANESAN Mother Name : MALATHY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	5.00	10.00	С
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0003

Name of the Student : AFSAL AHMED S

Father Name: SHAKUL HAMEED **Mother Name: ZARINA BEEVI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	6.00	18.00	В
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	Α
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0004 Name of the Student : AKSHAYA V

Father Name: VEERA RASU **Mother Name: MANJULA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	6.00	18.00	В
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	Α
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	7.00	21.00	B+
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	7.00	21.00	B+
8	TAMIL-II	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0005

Name of the Student : ARUN KARTHIK M

**Father Name: MURUGESAN** Mother Name : KANIMOZHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

\_ ..

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0006

Name of the Student : BAGAM PRIYA R

Father Name: RAMAIYAN Mother Name: SUDHA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	5.00	10.00	С
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0007

Name of the Student : BOOBALAN M

**Father Name: MURUGESAN** Mother Name: MALARMALA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	Α
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	4.00	12.00	Р
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0008 Name of the Student : DAVID M

**Father Name: MAHENDIRAN Mother Name: SARITHA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	В+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0009 Name of the Student : DEEPIKA K

Father Name: KALAIARASAN **Mother Name: SELVI** 

I		I	I	I	I	I
SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
51. 140.	Subject Name	Pr	Hours	Point	Point	diade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	<b>A</b> +
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	7.00	21.00	B+
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	5.00	15.00	С
	1					

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0010 Name of the Student : DHANUSH M

**Father Name: MOHAN Mother Name: KAMALAVENI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	6.00	18.00	В
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	6.00	18.00	В
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0011

Name of the Student : DHANUSH S

Father Name: SUBRAMANIYAN **Mother Name: DHANALAKSHMI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	10.00	20.00	0
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	7.00	21.00	B+
7	GE-I: NUMERICAL METHODS	Th.	3	7.00	21.00	B+
8	TAMIL-II	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0012 Name of the Student : DHINESH B

Father Name: BABU **Mother Name: CHITRA** 

		I				I
SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
011 1101	Subject Name	Pr	Hours	Point	Point	orace
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	6.00	18.00	В
			+			

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

**Mother Name: SIVAGAMI** 

Result Announced Date: 20/10/2023

Father Name: SUNDARAM

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0013

Name of the Student : DHINESH S

Credit Credit Th Grade SI. No. Grade **Subject Name** Hours Point Point Pr 1 **ENGLISH-II** Th. 3 000 000 Fail 2 **ENVIRONMENTAL STUDIES** Р Th. 2 4.00 8.00 PYTHON PROGRAMMING LAB Th. 2 8.00 16.00 Α DATA STRUCTRES AND ALGORITHM LAB Th. 2 9.00 18.00 A+ 5 **PYTHON PROGRAMMING** Th. 3 000 000 Fail **DATA STRUCTURES & ALGORITHMS** 6 3 Fail Th. 000 000 7 **GE-I: NUMERICAL METHODS** Th. 3 000 000 Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Th.

3

4.00

12.00

Click here to view Subjectwise Details Print

TAMIL-II

8

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0014 Name of the Student : EBIROSTO B

Father Name: BHAGYARAJ **Mother Name: JANCY RANI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	Α
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	5.00	15.00	С
7	GE-I: NUMERICAL METHODS	Th.	3	4.00	12.00	Р
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0015

Name of the Student : EDMAN ALLFRED E

Father Name: EVIN RAJ **Mother Name: LEEMA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

Results

# II Semester B.Sc. Computer Science JULY 2023 Examinations Reg. No. : 22CS0016

Name of the Student : GOPI S

Father Name : SASIKUMAR Mother Name : MANJULA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	5.00	15.00	С
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

Doculte

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0017

Name of the Student : HARIHARAN S

Father Name: SEKAR Mother Name: ADHILAKSHMI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

•



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0018

Name of the Student : HARIHARAN S

Father Name: SANKAR **Mother Name: SARIDA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	Α
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0019 Name of the Student : HARINI B

Father Name: BALAKRISHNAN **Mother Name: REVATHY** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	5.00	10.00	С
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

Doculto

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0020

Name of the Student : JAYAKRISHNAN R

Father Name: RAMAN Mother Name: RAJALAKSHMI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	7.00	14.00	B+
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	7.00	14.00	B+
5	PYTHON PROGRAMMING	Th.	3	7.00	21.00	B+
6	DATA STRUCTURES & ALGORITHMS	Th.	3	8.00	24.00	Α
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

•



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0021 Name of the Student : JAYAPRIYA J

Father Name: JEYAKUMAR **Mother Name: JEYANTHI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	Α
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	4.00	12.00	Р
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 00/00/0000

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0022

Name of the Student : JAYASREE J

**Father Name: JAYAKUMAR Mother Name: SELVI** 

**WITHHELD** 

Withheld Reason: MP

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0023 Name of the Student : JEEVA M

**Father Name: MUTHUKRISHNAN Mother Name: HABIBUNATCHIYAL** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	Р
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0024 Name of the Student : JOVEL A

**Father Name: AROKIYA RAJ Mother Name: JEYAJOTHI MARY** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0025

Name of the Student : KALISWARAN S

Father Name: SATHASIVAM **Mother Name: DHANALAKSHMI** 

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	4.00	8.00	P
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0026 Name of the Student : KARTHIK S

Father Name: SENTHAMIZHVELAN **Mother Name: PAVITHRA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	000	000	Fail
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

Doculte

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0027

Name of the Student : KAVIYARASU S

Father Name: SUBRAMANIAN Mother Name: KARPAGAM

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	Р
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0028 Name of the Student : KAVYA R

Father Name: RAVI **Mother Name: MAHALAKSHMI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	Α
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	7.00	21.00	B+
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0029

Name of the Student : KEERTHIVASAN V

Father Name: VEERASAMY **Mother Name: SELVI** 

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	P
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	P
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0030 Name of the Student : KEVIN A

Father Name: AROKIA RAJ **Mother Name: LETCHOUMY** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	4.00	12.00	P
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	Р
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0031

Name of the Student : MADHUMITHRAN V

**Father Name: VADIVEL Mother Name: VIJI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	4.00	12.00	P
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	P
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	P
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	P
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

• Poculto

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0032

Name of the Student : MARUDHAMANI R

Father Name: RAJA RATHINAM Mother Name: JAYALAKSHMI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	7.00	14.00	B+
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0033

Name of the Student : MOHAMED FAJIL J

Father Name: JALEEL **Mother Name: SHAKEERA BANU** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	4.00	8.00	Р
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	Α
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0034

Name of the Student : MOHAMED JAZID J

**Father Name: JAMALUDEEN** Mother Name: SHAHIRA BANU

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	4.00	12.00	P
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	Α
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0035

Name of the Student: MOHAMMAD SUHAIL M

Father Name: MOHAMMED HAJA AMEERUDEEN **Mother Name: FATHIMA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	A
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 00/00/0000

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0036

Name of the Student : MOHAMMED FARVESE S

Father Name: SARBUDEEN **Mother Name: FATHIMA NATCHIAL** 

**WITHHELD** 

Withheld Reason: MP

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

• Poculto

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0037

Name of the Student: MOHAMMED SADHAKATHULLAH M

Father Name: MOHAMED SHAJAHAN Mother Name: HABEEBUNISSA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	A
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0038 Name of the Student : MONIKA K

Father Name: KUMARAVEL **Mother Name: VIJAYALAKSHMI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

**Mother Name: MAHESWARI** 

Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0039

Name of the Student : MONISHA V

**Father Name: VAITHIYANATHAN** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	5.00	15.00	С
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0040

Name of the Student: NAVANEETHA KRISHNAN M

Father Name : MARIMUTHU **Mother Name: MALATHY** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	A
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	5.00	15.00	С
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0041

Name of the Student : NITHEESH KUMAR S

Father Name: SARAVANAN **Mother Name: MALATHY** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	6.00	18.00	В
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	5.00	10.00	С
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

Doculte

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0042

Name of the Student : PERIYASAMY V

Father Name : VENKATESAN Mother Name : PRIYA

		I	I		I	I
SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	6.00	18.00	В
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

4



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations Reg. No.: 22CS0043

Name of the Student : PRADEEP C

**Father Name: CHARLES Mother Name: BREMA** 

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	А
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	7.00	14.00	B+
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0044 Name of the Student : PRAVEEN S

Father Name: SHANMUGA SUNDARAM **Mother Name: THENMOZHI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	8.00	16.00	A
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

# Kalapet, Pondicherry

**PONDICHERRY UNIVERSITY** 

Home



Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations Reg. No.: 22CS0045

Name of the Student : SANJAY J

**Father Name: JAIGANESH Mother Name: LALITHA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	000	000	Fail
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	<b>A</b> +
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0046 Name of the Student : SANTHIYA C

Father Name: CHANDRASEKARAN **Mother Name: SANGEETHA** 

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	ENGLISH-II	Th.	3	6.00	18.00	В
2	ENVIRONMENTAL STUDIES	Th.	2	5.00	10.00	С
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	5.00	15.00	С
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

**Mother Name: SANTHY** 



Result Announced Date: 20/10/2023

Father Name: SUGUMAR

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0047

Name of the Student: SANTHOSH KUMARAN S

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	P
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0048 Name of the Student : SEEMAN S

Father Name: SEKAR **Mother Name: JAYALAKSHMI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	6.00	12.00	В
3	PYTHON PROGRAMMING LAB	Th.	2	9.00	18.00	A+
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В
6	DATA STRUCTURES & ALGORITHMS	Th.	3	5.00	15.00	С
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

>>> Result Announced Date: 20/10/2023

Doculte

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0049

Name of the Student : SELVAVINAYAGAM C

Father Name : CHELLADURAI Mother Name : MADHEENA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	4.00	12.00	Р
2	ENVIRONMENTAL STUDIES	Th.	2	4.00	8.00	Р
3	PYTHON PROGRAMMING LAB	Th.	2	5.00	10.00	С
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	7.00	14.00	B+
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

-



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0051

Name of the Student : SIVANODHAYAN S

Father Name: SIVA **Mother Name: VINODHA** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	5.00	10.00	С
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	4.00	12.00	Р
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0052 Name of the Student : SRIDHARAN S

Father Name: SRINIVASAN **Mother Name: MYTHILI** 

Sl. No.	Subject Name	Th	Credit	Grade	Credit	Grade
	0.000	Pr	Hours	Point	Point	0.000
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	6.00	18.00	В
8	TAMIL-II	Th.	3	4.00	12.00	Р
		1			1	1

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

## II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0053 Name of the Student : SRIRAM R

Father Name: RAMESH **Mother Name: MANIMEGALAI** 

	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	0.000
E	ENGLISH-II	Th.	3	6.00	18.00	В
E	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
F	PYTHON PROGRAMMING LAB	Th.	2	7.00	14.00	B+
	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
F	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
(	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
7	TAMIL-II	Th.	3	5.00	15.00	С
F	PYTHON PROGRAMMING  DATA STRUCTURES & ALGORITHMS  GE-I: NUMERICAL METHODS	Th. Th.	3 3 3	4.00 000 5.00		12.00 000 15.00

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

# II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0054 Name of the Student : SRIRAMAN S

Father Name: SRINIVASAN **Mother Name: MYTHILI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	4.00	12.00	Р
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	A
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	000	000	Fail
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0055 Name of the Student : SURIYAPRAKASH R

Father Name: RAVI **Mother Name: KRISHNAVENI** 

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	Α
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	Р
5	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0056

Name of the Student : THULASIRAM R

Father Name: RAJI PV Mother Name: ABIRAMY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	5.00	10.00	С
5	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home

**Mother Name: RAJESWARI** 



Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0057

Name of the Student : VASANTHAN U

Father Name: UMASAGAPATHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	5.00	10.00	С
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original



Kalapet, Pondicherry

Home



Result Announced Date: 20/10/2023

Results

#### II Semester B.Sc. Computer Science JULY 2023 Examinations Reg. No.: 22CS0058

Name of the Student: VIJAYSIMMA J

**Father Name: JAYAKUMAR Mother Name: VIJAYA BHARATHI** 

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	8.00	16.00	A
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	9.00	18.00	A+
5	PYTHON PROGRAMMING	Th.	3	000	000	Fail
6	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
7	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Result Announced Date: 20/10/2023

#### II Semester B.Sc. Computer Science JULY 2023 Examinations

Reg. No.: 22CS0059 Name of the Student : YAASIR S

Father Name: SULTAN ARIF MARICAR **Mother Name: HABIP NISAH** 

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
		Pr	Hours	Point	Point	
1	ENGLISH-II	Th.	3	5.00	15.00	С
2	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
3	PYTHON PROGRAMMING LAB	Th.	2	6.00	12.00	В
4	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	6.00	12.00	В
5	PYTHON PROGRAMMING	Th.	3	7.00	21.00	B+
6	DATA STRUCTURES & ALGORITHMS	Th.	3	4.00	12.00	Р
7	GE-I: NUMERICAL METHODS	Th.	3	5.00	15.00	С
8	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original